FH20EEERRBEA TR

BITEH = #iEETRM HENRE OEHae a2 REE
AIER H29.5.16 | H29.8.29 |H29.11.29| H30.2.9 | H29.5.16 | H29.8.29 |H29.11.29| H30.2.9 | H29.5.16 | H29.8.29 [H29.11.29] H30.2.9
5zl 8:51 11:13 8:40 9:13 9:06 10:37 9:10 9:27 9:17 10:26 9:20 9:38
PN iEh iEh R iEh iEh iEh R iEh iEh iEh R iEh
BITESE (uSv/h) | 0.10 0.07 0.09 0.09 0.08 0.10 0.09 0.09 0.09 0.08 0.09 0.09
ket
BITEH = BN REE ZERNRE AN REE
AIER H29.5.16 | H29.8.29 |H29.11.29| H30.2.9 | H29.5.16 | H29.8.29 |H29.11.29| H30.2.9 | H29.5.16 | H29.8.29 [H29.11.29] H30.2.9
2l 9:34 10:12 9:35 9:53 9:53 9:40 9:50 10:10 | 10:07 9:58 10:05 | 10:26
BN iEh iEh R iEh iEh iEh R iEh iEh iEh R iEh
BITESE (uSv/h) | 0.08 0.07 0.07 0.08 0.09 0.09 0.11 0.10 0.08 0.09 0.08 0.07
ket
BITEH = AR KEE AR A E k2 REE
AIE R H29.5.16 | H29.8.29 |H29.11.29| H30.2.9 | H29.5.16 | H29.8.29 |H29.11.29| H30.2.9 | H29.5.16 | H29.8.29 [H29.11.29] H30.2.9
2l 1322 | 1351 14:40 | 13:23 | 13:34 | 1405 | 1450 | 13:35 | 1047 | 1448 | 1505 | 13:49
BN iEh iEh R iEh iEh iEh R iEh iEh iEh R iEh
BITESE (uSv/h) | 0.10 0.10 0.10 0.08 0.11 0.09 0.11 0.11 0.07 0.08 0.09 0.08
ket




